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1. 6 DB v ER A (Fixations ), fXEHE (Sense Group) [H]i
B BR BARAY R DU R A — 1A — )i, s A2
DARRE TR ORI, AR ER EREM LUT iR ARG R e, BIERAT & 5HY «—
BH17. RARRMANEEEARETE-FMA - HETENFEF -
CAERF ST B s 4
The people of Sakwoki / can buy / many of their needs here / in the village street.
AR v E AU R R A T I 1)
The / people / of / Sakwoki / can / buy / many / of / their / needs / here / in / the /
village / street.
R E (A 4 MEM AR T £4), TRREMIRENER 15 MEA,
HEAREBRRS .

2. BEENEN A ( Vocalization ) _ :

4 7 ) B SR TE D S WG VB A — A IR P SR < X ST R M R
BOH RS2 BT A B - SRR, W3 A SIS B E B N E A 150 M RAE S
i (YOAETRTR ) SEE ARIBTEREE — MO S 980 250 MRIALELS « XBLRIH, KEHE
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o A R B A A BRI B 1E —F X, thTRE R oA tEhehg S, M age R/
WeTETELh . BT TR, MiEN BRI AN EETE .

3. #4012 (Inner Speech)
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1. ¥§iE (Intensive Reading)

XA AR IR o 7R e RE AR EE N B R A R 2 5 S AR
HIRGBER CEFRZIM AR . XA EEEH TR EENZS), PLESTARE
BEgRORE . &0 . EESUEMEER RSN - R ERRAY, BRBREE
A ERPERAARC - 18 . AR TEPSIFESCE RN

2. Zi% (Extensive Reading)

ZEth AR @s e, BT @ TR . SRR 2 A E FEEIES
X AEZATE T EXN & S MR EEAZ  HEERAT YN, SHAC HESR A BaE i1,
ARG E I Z A SRR, BN D B B A . X E T
TRONSGE RN PRI ) S 2 R, QN i3S - /i 2 IR E T — B8R B ik
Y. & SRR IZRAHSE & WD HIE A T emmid, S HmIEe g s
RETIAN, ZEEERN & T EWEILEE %A

3. W&t (Skimming )

B B2 — RSB . B — 1 A AT RE & BR0 BRHE B 1A RS e bt
Bl ZMETERABES, R HIE T ER S (H—NEREE—FRE .
HAE— B 2R M FIRLR . BUF— B A EANRRES ), CUE T B4 L
BEMEENS - BEEEA TS - IR0, SIER T ASHS
ZETTR I ST LIRS« — M. Wi RE BTy BRI I i B — % . iy
WERIR, AT ATERS 10 B4 xS T R B0 R BEE SR RS ZhIRER . S ib 4%
LA, UTREXHKE.

4. &% (Scanning)

BHE -FE B E A FITTRHR SR - SCPR xR T g Bl e it 3
AR, TEE RS R E ARSI ERS - B EE T AR 5 —
CREEBMER . TEMEIEMEE, BT LU A X — F 05 1 AERFHE T R F 01 )
HERENER .

XEE - R FEEENE . BX S8 E X PR . B2 \HE S
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R L BREEEAE N ERIRBIN  mi g PN E LLREE SRR IER (0F
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5. iFifiE (Timed Reading)

SERY R 7R BT TR SO - B ORGEAT 10~15 4hEPET, BHRAEAK . BT
WA S E R, BE-KRESES - MO8 RMBEARBIN AR . £ii T
EAT (Al (starting time), [ HESE R0 T <2 5EHT (A (finishing time ) {8 0] LU+ 8 & i1
SRR, EHRELDUE - REAR. EReEIH BRR .

LUE AT 480 AR R E KR P R R 2 0L - B b, Eiid B |
T (DLRE Y-SRIy ) HE RS XA - FIaeE %L mEmet, EHetmE
AR el e CEEBA SRIEE, RIE i PR AE SR BOR L B s S &
ERRAERE. F108 -SERFHETHNMTRERERE . NEOEE RN
FR. B2, NIREECHEEER, WEAEMEMESTE. RIESH &Ry EMET.
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AT HA AT 7 AR AR B Qo] R RAFRYIREIE SR - el S4B A
PR TTHEF AL X B R EA B QO B b 5 R PR - DR Y
ﬁ/\%’élﬁlﬁ REAREME R
- B R B R R
- BREEETNATHRIA
~ B R TNCAREE & R RS
~ BRHMT - HEPE T Y Al R
~ ARUSEERIA - BEMAERFE
- BEREE g el

SFEE N

—. THERRaE

B AR AR, EAEMUECEN FEE, H LU T REE WA -
BEENSE. ZRIERMEFSMRE . X+ 8RR 2R L2 5 .
BRIR TR A A RAER, XBRE R H SRR, NE B R RY T 7E 2t
IR RIF 2 BORE 07 o X 288 (R 6 LR 1A] /7 2 AT U A

1. The main idea of this passage is...

2. The passage tells us...

3. Which of the following statements best expresses the main idea of the passage?
4. Which of the following sentences best sunmarizes the author’s main point?

5. Which of the following best states the theme of the passage?

6. The subject matter of this selection is. ..

7. The passage mainly discusses. .. ! (¢ a5 / -{L U k? S /
8. This passage illustrates... i v
9. This paragraph centers/focuses on. .. /) Z V1_7V/, ) ’@«, 1{/87 ) ‘% k {/

10. This passage mainly deals with. ..
11. This passage is chiefly concerned with. ..

passag y consemat ! T untenter
12. The author’s purpose in writing this passage is... -
13. What is the passage mainly about?

14. Which of the following title best describes the content of the passage?
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(6] 257 O 7 8 R (R AT 23 P20 A T

A HRHEBR . BRI H PRSI ER L A R L BB E A .
TUEE L B BN R IREER G IR B H 8 . EEO— R T XE BB %
Frg, RIGESEE BRI - HNIF 2 1EE ERRA AR IR IESRUR 7 i
BlEEEEEk (deduction) . X2 —FRHE LW X HHRENSFER - HIFERANRME
(induction), BT I ARG BAUR. EAB 0 TBRA - Btz £86
A RRELL T BukihE « SBIEEAE. SN U bR, TERER . LR5EER
BEREIER LR EERESR.

i 1

In rock music there is distinct and almost overwhelming beat. No single beat is
characteristic of the music today, but each song has an easily recognizable thythm. As you
listen to a song, your foot usually starts to pick up the beat. Before long, your entire body
seems to be moving with it. Your head pounds with the beat, and there is no room for thought.
Only the surge of the music is important. In its own way, rock music is as dominant as the
rock Gibraltar. Its message is an overgrowing emotional one.

TEX—EE X EH “In rock music there is a distinct and almost overwhelming beat.” ]
4] -Beat MR 5 BRI KA 2 4.6 R EE B TiE = 4h iy« thythm”
(17%) B “beat” (RFUMTR) BEEAF, XMFIET I ERMHENLRE .
WIEE: 8/\. WafFEES LT 3, TARNBREEE.

i 2

The vegetable and fruit and flower merchants are surrounded by baskets of purple
eggplant, green peppers, strings of tiny silvery onions, heads of bitter Indian spinach, and a
dozen Indian vegetables for which I don‘t even known the English names. I had forgotten
about the profusion of fruit in India—it is only during the brief intense summer that you see
much variety of fruit in Moscow. In Russia, as winter approaches all vegetables except for
potatoes and the pervasive cabbage in soup seem to disappear from the menus.

FEGTERERZE = 4] <1 had forgotten about the profusion of fruit in India— it is only
during the brief intense summer that you see much variety of fruit in Moscow” | “BETH

ERARFRHKR. MIEEHHELIRMELHKR RaRrEg AMWEX .
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13

People who live in cities today think that meat is something that comes wrapped in
cellophone from the supermarket, potatoes come by the pound in plastic or paper bags, and
feather grows in hats. The city dwellers’ views are quite different from the views of their
ancestors, who knew that meat is hunted down in the forest, potatoes are planted and weeded,
and only birds can produce feathers. Yet, whether people today realise it or not, they are still
as dependent on animals and plants for their existence as their ancestors were.

FRE ) NEfG—%) “yet ,whether people today realise it or not, they are still as
dependent on animals and plants for their existence as their ancestors were.”

REEEEE, ULRT RN EHZEDIREEARE, ks BE ol s
B b B8 B PEAR T R KR 53 B % BR A SC - B £ ) — R BT AR HA B -

B BEERIAGNESEE - SChr b RPN 2 A X E R A EE A .
XA T SCRE A 805 R SR P T SR RS Y - X SR B R 1R ] O kAT
BERE SRS S BB T - B S8 LN I B B S TG (K69 AR
R R EBARK)). RIGH&BRESEPTRIEI R £ X0 EEEA . 5
B, —ME BT R o A ATE R R, TR R AT DL (s
ENEPTXENBEBER L& ES 2 AWEE - MESHIEE IRt £k 5o
e EETHIE. WA EABES - % M TRA S SCAE YN B E
SRIEHC A X ETE BT A SR B SR B T - F B R 0 B TN

il 4

A bus driver must answer questions while guiding a bus through heavy traffic. All day
long, the driver answers the same questions without becoming angry. Every few minutes a bus
driver has to ask passengers to step to the rear of the bus. In spite of traffic snarls and
thoughtless passengers who cause delays, a bus driver is expected to cover his or her route on
schedule.

X—EHIRR & E B A) W HE#E ) “Driving a bus is a hard work.”

#ils

A green I—538 form is used by international students in order to obtain permission from
the Immigration and Naturalization Service to transfer from one university to another in the
United States. If you are planning to transfer, remember that you must obtain the permission
before leaving the university where you are currently studying. You must complete the form
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1—538, have it signed by the foreign student advisor, and submit it to the District Office of
the Immigration and Maturalization Service together with the form 1—20 from your hew
school and the small, white form 1—94 that was affixed to your passport when you entered
the country.

Submitting the signed I 538 and other documents dose not insure permission to transfer.
Only an official of Immigration can decide each case. Students who have not completed one
term of study at the school that issued them their first I—20 are not advised to file for
permission to transfer until they have completed one term.

X B SRR 4 = A R] U944 “ What should a foreign student do , if he or she wants
to transfer from one university to another in the United States?”

=, EERTHASHEE

HRERXENEEXENDLOEEERECHER =X, HERE L iR
EXHNE, FILLEERE S50 BEE ROHTMEY . —MFROEELRSSIASE
X SR ESEYRA X RELULIEHE AL A - 5 THRANX 2 B4 )
AAMR . —FRE K LR E EHSTMAT , XA 5 who, when, where,
which BE why %3¢ o573 — 1R B2 S A VR EELR T 75 SO 28 rh A 4R R o3 ke ] 5 4 75 except
not(mentioned/true) , least ¢ . Y]] :

1. What causes...?
2. Why dose the author mention...? -
3. How many...?
4. Where in the passage dose the author describe...?
5. The auther discusses...in order to illustrate which of the following?
6. What time dose the writer think is...?
7. What dose the author pay least attention to...?
8. Which of the following is not a result of...?
9. All of the following may be...except....
10. Which of the following statements is true/not true?
11. Which of the following is not mentioned?
12. The author states all of the items listed except....
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i1

To prepare for career in engineering, a student must begin planning in high school.
Mathematics and science should form the core curriculum. For example, in a school where
sixteen credit hours are required for high school graduation, four should be in mathematics,
one each in chemistry, biology, and physics. The remaining credits include four in English and
at least three in the humanities and social sciences. The average entering freshman in
engineering should have achieved at least a 2.5 grade point average on a 4.0 scale in his or her
high school. Although deficiencies can be corrected during the first year, the student who
needs additional work should expect to spend five instead of four years completing a degree.

1. What is the average grade point that an entering freshman in engineering should have
achieved in his or her high school?

2. When should a student begin planning for a career in engineering?

3. In normal situations, how many years are needed for a student to complete a degree?

4. How many credits are required for a high school diploma?

5. How many credits need a student have in English?

BERUTF -

1L.25. (BXEMENH.)

2. In high school. (X &EH—4]-)
3. Four. (EXEERG—4].)

4. Sixteen. (EXEH =4).)

5. Four. (FXEHI4H).)

512

Precipitation, commonly referred to as rainfall, is a measure of the quantity of water in the
form of either rain, hail, or snow which reaches the ground. The average annual precipitation
over the whole of the United States is thirty inches. It should be understood however, that a foot
of snow is not equal to a foot of precipitation. A general formula for computing the precipitation
of snowfall is that thirty-eight inches of snow is equal to one inch of precipitation. In New York
State, for example, seventy-six inches of snow in one year should be recorded as only two
inches of precipitation. Forty inches of rain would be recorded as forty inches of precipitation.
The total annual precipitation would be recorded as forty-two inches.
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1. What is the average annual rainfall in the United States?
A. Thirty inches
B. Thirty-eight inches
C. Forty inches
D. Forty-two inches
2. 152 inches of snow is equal to
A. three inches of precipitation
B. four inches of rain
C. five inches of rain
D. six inches of precipitation
3. Another word which is often used in place of “precipitation” is
A. humidity
B. wetness
C. rainfall
D. snowfall

BEROT

I A (BXESE -4.)
2. B (BXXEEMNA.)
3. C (AXHEE 4.)

=, WICFEE S XaE s

TE I PR AR o P 2 9K B0 o S LR SR AR - Xt 2 A M 0 —

MOTH . BREEROR . EXR0EHED. RAMTENE S SR EmEE . -
FCATRRAIR . D AT LUAREE 1R 30 I RF SR IIE S: - 10 AR A S R
EA RN S - RAIX KR

1. The word “...” in line...refers to...

2. The expression “...” in line...is closest in meaning to...
3. In line..., the word “...” means...

4. In line.. ., the word “...” could best be replaced by...

5. In line..., the author uses the phrase “...” to indicate. ..
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6. By “...” the author means...
7. The word ““...”, as used by the author, means most nearly...
8. In this passage, the word “...” means... .
9. *“...” in the context of the passage refers to ...
10. “...”, as used in the passage, can best be defined to ...

B 1. BHETEEX ERELESWRSAH, AEFARESET RN EL
WA MR e PR R AR

At the age of sixty-six, Harland Sanders had to auction off everything learned in order to
pay his debts. Once a successful proprietor of a large restaurant, Sanders saw his business
suffer from the construction of a new freeway that by passed his establishment and rerouted
the traffic that had formerly passed.

With an income of only $105 a month in Social security, he packed his car with a
pressure cooker, some chickens, and sixty pounds of the seasoning that he developed for
frying chicken. He stopped at restaurants, where he cooked chicken for owners to sample. If
they liked it, he offered to show them how to cook it. Then he told them the seasoning and
collected a royalty of four cents on each chicken they cooked. The rest is history. Eight years
later, there were 638 Kentucky Fried Chicken franchises, and Colonel Sanders had sold his
business again—this time for over two million dollars.

BEEMOT

1. The word in the first line means to sell.

2. The word in the second line is the same as the word owner.
3. Formally in the fourth line means in the past.

4. Sample in this particular paragraph means to taste.

5. Royalty is equal to payment.

B2 R THEE. RERIEET SUERBE S SR AL .

Six men have been trapped in a mine for seventeen hours. If they are not brought to the
surface soon they may lose their lives. However, rescue operations are proving difficult. If
explosives are used, vibrations will cause the roof of the mine to collapse. Rescue workers are
therefore drilling a hole on the north side of the mine. They intend to bring the men up in a
special capsule. If there had not been a hard layer of rock beneath the soil, they would have
completed the job in a few hours. As it is, they have been drilling for sixteen hours and they
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still have a long way to go. Meanwhile, a microphone, which was lowered into the mine two
hours ago, has enabled the men to keep in touch with their closest relatives. Though they are
running out of food and drink, the men are cheerful and confident that they will get out soon.
They have been told that rescue operations are progressing smoothly. If they knew how
difficult it was to drill through the hard rock, they would lose heart.

T HE R A SCHER TR -
1. The roof might collapse, it might
A. explode
B. fall in
€. fall over
D. blow up
2. The microphone enabled then to keep in touch with their closest relatives. It made
it— for them to keep in contact with their closest relatives.
A. able
‘B capable
C. possible
D. probable
3. They are running out of food. They
A. have none
B. have a lot
~C. haven’t much
D. can’t eat it
4. The men are cheerful. They are in good
A. temper
B. mood
C. health
D.disposition
5. They may lose heart. They may — in despair.
A. give
B. give up
C. give off
D. give over
6. The word “progressing” in line 10 can best be replaced by which of the following?
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A. becoming better or more complete
B. becoming worse or incomplete

C. speeding up

D. being in full swing

BEEWT
1.B. 2.C. 3.C. 4B 5.B. 6. A.

S5 EARZBFNC R A/ NIRRT X . FEE RE B T A% - 8 -
EPT R &R F X PHIGIREMR Y, WE EREY B, ME Rt 5 O it
BES) - BE—EWIL, REEFRANPFIAEWIAL, BLRT V8. JURBTE
I, A5 EID RNt EERAE LT e, AR R, X thme
BATED BT SURME MR AR -

M. FER. @IS |0RE

FINT - FERRAE SRR — R R A S B E - RN RS BT R A E S
B FERLS . BERENSE S EE - BT LU R 5 SR rh A AR .
XK H B RS LT SRS S R R IR SRR A E B = &
SCHATIREN ; FIMFRTTE XM E B WARES AL EERENEE S5 . T
ER N PR — R W RIE TR

N 00 1 N W A W N -

. It can be inferred from the passage that. ..

. Which of the following can be inferred. ..

. The passage implies / suggests that...

- Which of the following can be concluded from the passage. ..

- It can be concluded from the passage that. ..

. Which of the following conclusions could best be drawn from the passage?

- The paragraph following the passage most probably discusses. ..

- In which of the following publications would this passage most lively be printed?
. Based on the passage, we can assume that. ..

10.
11.

We can infer from the passage that the authoris ---
What does the paragraph preceding this passage probably discuss?



